Efficiency vs Dxy(PV)

0.5

0.45]
o 0.4
20.35
0.3]
0.25]
0.2
0.15]
0.1

vs dxy(PV)

efficien:

0.05

10

Ratio

0

10 15 20

5
TP dxy(PV) (cm)

[ Efficiend]

—=— DQM_original_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_tthar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew2_step2_tthar-phasel-newgeom

1.2

[y

I I B B L I

0.8]

efficiency vs dxy(PV)

0.6}

Ratio

Efficiency vs Dz(PV)

1.

S T T
g [ : :
¥ I : :
o e R e
> B . . .
> [ : : :
Q r . . . .
& 0.8f--eeees P e e PR
= : : :
€ : : :
@ o . . . .
e R PR I AR AR FRRRED
0.4f-ceedeeees R SERERERE e
0.2f--e e T Beeens

[ | | i i
o +9 ' '
T
14

P+ - -

°¥Pp 20 10 0 10 20 30

Efficiency vs Dz(PV)

TP dz(PV) (cm)

S 1. 5
o L
N [
k=l
1’4
>
>
Q
=
k9]
K]
= r . . . . .
[} r . . . . .
0.6f=r--==- AR AR PR R 1o
0.4 [ TS SO
0.2 dnnn et ee e foeees : i
o 10 ] ] + if + ] ]
3 ] :
= -1
0 0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


